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General Instructions :

(i)  The question paper has 30 questions in all. All questions are compulsory.

(i) Marks are indicated against each question.

(i) Questions from seriai number 1 to 8 are very short answer type questions. Each
question carries one mark.

(iv) Questions from serial number 9 to 21 are 3 marks questions. Answer of these
questions should not exceed 80 words each.

(v) Questions from serial number 22 to 29 are 5 marks questlons Answer of these
questions should not exceed 120 words each.

(vi) Question number 30 is map question of 3 marks from Geography. After
completion, attach the map inside your answer book.

la oW e 524 5. | fora 4 ot o 12 1
How were the books printed in China about 524 A.D ?
UaT / OR
1b ‘THES AR I, 3T9eR! fohd U= | fiei 2 1
In which novel would you find the character named ‘Friday” ? .
2 9RA H = 1 EeTd fohd 91 ST A it et ? 1
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The people of which country introduced tea in India?
srdent § ford =21 ) STvaa Ui STIEH (1966-75) & ®9 H ST ST & ?
Which event in the USA is referred as The Black Power
(1966-75) ?

TR T & s 1 U% WERRT AR T 1 HEE © 2

What is the official post for the chairperson of a Municipal Corporation ?
Sfesry % <) TgEEE WY TEE HhiA-8 §?

Which two ethnic groups are in majority in Belgium 7

@il % foepme 6 e fom =0 2R €2

Why do people have different development goals ?

FI AT &F /IS & ST AATSH ITH FLaAl 87

Which sector generates services rather than goods ?

“I9 F T T Y T AR SR Gad e wEd €, f onuel TR Sge Sfed & fag

STV & Wkl §177 HUA I Aifad H G T I 10

Movement

Cite any one example to prove that money in your pocket cannot buy all the goods and

services you may need to live well.

I I wRftafE @ s Fife 5=t uRa oar =19 % N S STl a9 @l | STEfd

TGl o €9 H HE H og 9ied TR |

Mention any three circumstances that compelled Indians and Chinese to work as indentured

labour in plantation and mining,.
3ear/ OR

T H St T & yRe A st 1 o1 Hurw fired w1 el @ fadansi 1 SR S|
~Highlight any three advantages of cotton mills that turned up in early 19t century in India.

3reraT/ OR
S ol ARG STeET W TR S Sl S o1 ?
Why was Bombay called as a Mayapuri or Mayanagri?
‘e’ . o ? I T T SHY SR Y g ?
What was ‘Rinderpest’ ? How did it benefit the Europeans ?
3gar/ OR

IRt SFagEEl & st gig # forn fvu yar dmem fear? mﬂﬁaﬁawﬁml

How did Parsi businessmen contribute to industrial growth ? Explain with examples.

et/ OR
JTONEE Tl T A Y T i STEIG! FI Sgd ol 2 IS i IRl SIS |

Why did the population of London expand from the middle of the eighteenth century ? Give

any three reasons.
qrogfafiell # #E 7 whw fafa
Explain any three drawbacks of manuscripts.
| Jar/ OR
THen-1% e Sua e feman? sw ! fel <1 fadvansti @l e )

Who wrote the novel ‘Pariksha Guru’ ? Explain any two features of it.
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12a DA S 91?2 39 | S GST ) 9 R |

Who was Menochio ? Why was he executed ?
3Ygar/ OR

12b 19 &f uft &% few sw=rdi #, fem waw =t el &1 forw yer fafya fear @ @2 o=
ThiTT |

How were the concerns of Oriyan Society depicted in the Oriyan novels of 19t century ?
Explain.

13 mwmmwﬁmmwm|
Distinguish between red soil and laterite soil stating any three points of distinction.
14 v wifee fF, o fRg gRR a0 wema i R 2
Describe how forests help us.
15 dfy enyfie vRa & A 81 fFed @ iR = e 2
Dams are referred as the "temples of modern India" ? Who said this and why ?
16 oo FHIC R YRR TWHR F 9w A T R JER i 2 udhdr 1 g fean §2
How has the linguistic policy of Indian Goverrunent promoted peace and integration in the
country?

17 ST SRaEl 1 3w, TR W T A MY w9 S SW 87 SOYE See’ §RT T8
Hife |

How far do the emergence of social differences lead to social division? Explain by giving a
suitable example.

18 Sfesad ®i T GTEHAT fFE TR 950 wice © 2 T8 Hife |
How is the ethnic composition of Belgiuin very complex? Explain.

19 fordll 291 1 o1 T 3iR gfd =afes s § e i) 59 wia safs e & STaR W 29 0
aifferd ed € ?

Differentiate between the total income of a country and its per capita income. How do we
classify the countries on the basis of per capita income ?

20 TR sreferaeen # Fan éen T g8 gfg & forg SRl ol i sl w1 S shifstg |
Highlight any three factors responsible for the growth of service sector in the Indian economy.
21 “yra ® iy sTENfeT & T ST 1’ 1 Y 3HE TeHd § 2 SUYH SR ¥ A IW A g
wHifey |
"Agriculture is an unorganised sector in India". Do you agree with this statement ? Justify
your answer with suitable examples.

22 3TSfya gfHel 7 Sl T o T 1 IAFR AT
Highlight the methods used for the recruitment of the Indentured labour in the 19th century.
JgaT/ OR
22b T ® SETafadl | "a 99 o S9En 6, St s # wRiEl 1 ST sga T, | /4 2
T I |

Why did industrialists in Britain use manual labour while in America machines came to be
used increasingly by producers ? Explain,
Y41/ OR
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“yredl 1 e wiikfeerfat R wafaRor #Y THEM Teel X g §'' 1 ST SW A IR IR
TR T HI

“City development occurred everywhere at the expense of ecology and environment”.
Substantiate your answer with suitable examples.

1789 &1 wigEt wifa & gd, wifawr foar % wor § geo wwpft 3 fow d@im o aiffmE o
Frefor fofen 2 s |
To what extent did the print culture create conditions for the spread of revolutionary ideas
before the French Revolution of 1789 ? Explain. . =

3erar / OR
“rdR e YR SRR g Afearsti & AR § e fewnel 1 e i |
Highlight the concerns of European and Indian novelist about women.
T B el Sie] 3ot W i i s sty R e o v ¥ 1 59 e i e wie Bl
Hfed gfie FIfT

“The declining share of agriculture in, the Gross Domestic Product (G.D.F)) is a matter of
serious concern in India”. Support the statement with any five reasons.

TRA Tl 1 TR FRT| R S WER ¥ o o Q- fasand fafeu

Classify forests of India . Give two characteristics of any two types of forests.

faur IfEa S G TR SN T69 SR # 919 fod YR fauifsra foram T 2 2 SSel <ol
=y i |

How are legislative powers divided between Union Government and State Governments ?
Explain with examples.

27 o Frder w5 4w aiugE 2200 R f7 ana 9 e SIS S uiE w1 Oyt

7(28
?\29

.
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T & & |
What is meant by a secular state ? Explain any three factors which make India a secular state.
TE FareRTe s e ¥ 2 WHE e Yeehie & R AR gkl i oA hife |

What is meant by HDI? Explain any four indicators of Human Development Index.

Ieured B gAiash & o 70 Heed o hig A SR i |
Give any three reasouns for the rising importance of the tertiary Sector in Production.

@) Fu gw ma ¥ woritfon Yemmts § A ® uw aew ffe e o g e @ oo
ST % YT T S GI&T01 i e mEtas H € fafed ven woswen 7m fafe
(A) G 1T YHE SUEH T4

b) € wEfes W FrEfefen S 3egE wEdl g uisd T S T fafa -
(B) =% TR AT &
(©  grmiEn

e ;. Preataiad w9 e gieartad wherhiat & fae d

(30.1) THE@ T IR T w1 AW fafeu)

(30.2) e sty fre 7w e €2

(30.3) e SR W H fFd YR 1 g1 T8 Wl § 2
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